ST UDY CENTRE

TNPSC GROUP I TEST BATCH - 2020
TEST IX - APTITUDE AND MENAL ABILITY STEP WISE SOLUTION

61. Find the value of 43x43x43+23x23 %23
43x 43—-43 x 23+23 x23
a. 43 b. 23 c. 66 d. 20
. . , 43x43x43+23%x23 x23
BT S  HTEIS.
43x 43—-43 x 23+23 x23

a.43 b. 23 c. 66 d. 20
allendaLd

OJL] (6D Short cut:
_ 79507 +12167 23+ b3 = (a +b) (a2- ab+ b?)

1849 — 989+ 529
= @ Here,a=43,b =23
1389
3 3
= 66 i N
a‘—ab+b
then, a+b=066
62.  Find the value of \/10 + \/ 25+ \/108 ++/154 +/225
a. 4 b. 6 c.8 d. 10
BFH6 OHIIGNL  BHT6u1h: \/10 + \/25 + \/108 ++/154 ++/225
a. 4 b. 6 c.8 d. 10
alleneaLD:
\/10 + \/25 + \/108 +4/154++/225 = \/10 + \/25 + \/108 ++/154 +15
= \/10 + \/25 +14/108++/169
= \/10 +1/25++/108 +13
= \/10 +4/25++/121
=10++/25+11
=10++/36
=10+6 = =./16=4
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63. If 4°=3/256 then find value of x

a. 4 b. % c. % d.2

4*=3[256 arafled X 1 WDHIIEOL BT

a. 4 b. % c. % d.2

aflenebaplb:
4" =3/256
= J/4x4x4x4
4 =4/
xX= %

64. If x+1=3then find x3+i3:?
X X

X+1:3 QEIIEY X3+i3 &1 LoGIenLl SHTeus ?
X X
a. 4 b.7 c.18 d.9

aflend&Lb:
wLwens (conventional method)

3
Let (X+1j =3
X

cubing on both sides ((X + %()3 =3

x3+i+3(x+lj:27

X3 X

X3+i+3x 3=27

X3
[.'.x+1:3}
X
x3+i3= 27-9 x3+i3=18
X X
Short cut :
If x+1:k If x—lzk
X X
2 1 2 2 1 2
then x ——2=k -2 then x +—2=k +2
X X
3 1 3 3 1 3
X +—3=k -3k then, X ——3:k +3k
X X
1 s 1
S X+= =3 then X +—3:3 —3x3
X X

27-9=18
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66.

67.
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3_
7
a. 311 b. 2821 c. 202 d. 301

14 14 14 14

3 1 1 3
5@ 26——15—-18=+37—-="7
F(HBGB - 2 - 2

a. 31E b. 28E C. 29E d. 30E

14 14 14 14

3

Simplify : 265 -15= 18243757
4 77 T4

leNSHSBLD:
conventional method short cut
:18_5 _g' _12_7 +E‘ :26§ _15l _18l +37§
7 4 7 4 7 4 7 4
1 1 3

_ 740-427 5081057 :(26_15_18+37)G 1 __+_j

28 4 74
_862_431_, 11 :30(12—7—4+21)

28 14 14 28
£ 3o[§)
28

= 302
14

If ax? - 28x + 49 = 0 has equal roots. Then the value of a is

a. 1l b. 2 c.3 d. 4

ax? - 28x +49 =0 ereiiB  FLOSTUTL 19631 CLPEURIG6NT FLOD 6160 a - 6T LOFHIEDLI  HTEUIIH.
a. 1l b. 2 c.3 d. 4

allenéaLD:
If ax? - 28x + 49 = 0 has equal roots then,
b%-4ac=0
Herea=a b=-28 C=49
(-28)2-4a (49)=0
784 - 196a =0
784

196
a=4

X3 8
L2
X—2 2-X
a.x2=2x+4 b.x2+2x+4
c.x2-2x-4 d.x2+2x-4
X3
X—2
a.x2=2x+4 b.x2+2x+4
c.x2-2x-4 d.x2+2x-4

Simplify :

8
F(HES: +—
2—X
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[STLIDPY??N
Qﬂ(ﬂTé’:&SLb:
x3 8 x® 8
+ — —
X—2 2—-X X—-2 XxX-2
_ x®-8 _ x% —2°
-2 X—2
X X2 +2x+4
A ) [a’~b’=(a—b)(a’ +ab+b’) |
(x~2)
=x2+2x+4
68 Find the value of : 1 + 1 + 1 =
' V241 B2 a+\B
a.2 b.1 C. 3 d.o
® LW LOFIEDL! HTewIS ! + 1 + 1 =7
i 241 B2 V4B
a.2 b.1 C. 3 d.o
alleNsaLD:

1 21 1 B2 _ B2
V2441 V2-1 N2 %k B
S PN B2

1 AB BB
NZENCRN N 4—3

1 1 \/—

=2-1+43-\2+4-3

RN TN T J_ J3

1+2=1

1 1
69. Simplify : + +

Py m+1 m+1 m?-1

r 2
a. m? b.mzl C.i2 d. r2n

m m m* -1
Fi(TH(GHD: + 1 + 1
OO T el m -1

2 2
a. m? b.mz1 c.i2 d. T

m m m- -1
330

m 1 1 m+1 1

+ +——= +—
m+1 m+1 m -1 m+l m° -1

1
= 1+—
m- -1
_ m?—-1+1
m? -1
m2
Cmi-a
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70.

71.

a | Page

If E:E then find the value of ﬂ+ 3y =X
y 15 8 (3y+x
.12 p 12 U0 § 12
110 118 102 721
X GTGITLIG) 14 6160760 ﬂJr 3y-X 61 LDGILIL| 6T601601 7
15 8 \3y+x
122 121 110 720
a. — b. — c. — d —
110 118 102 721
allendald
x =14 y=15
ﬂ+ 3y—x _ﬂ+(3><15—14j
8 (3y+x) 8 (3x15+14
2 59
_ 59+62
118
_ 121
118

In an election between two candidates one got 52% of total valid votes 25% of the total
votes were invalid. The total numbers of votes were 8400 how many valid votes did the
other person get?

a. 3276 b. 3196 c. 3024 d. 3026
BGairzpeded GumiiguilL &m Geulumeniseied @@meuT OWLTSHEH HHHWeTen eaumsGHHelled 52%

QuBETT. 25% 6UTHGDH6T FeL60TSH MUTHEG6N LideuTer OTsHd euTHEGHE6T 8400 660 LOBOBTHEUT
THBHME HSGHHWGT6N UTHGHemenL! CLBMTT?

a. 3276 b. 3196 c. 3024 d. 3026

allens LD

total votes = 8400

25% of votes are invalid = 8400 x 120—50 25% eureH@H6 OFTELTS
= 8400 x 1 andGser = 8400 x 2
4 100
Invalid = 2100 = 8400 x % = 2100
Now total number of valid votes = 8400 - 2100  SUOUTWSE H&weiTen
= 6300 aumsgaet = 8400 - 2100 = 6300
other person will got 48% of valid votes then wBGBT®HeuT 48% HEGHHWsien
= %x6300=3024 UTSHGBH6N GUBBTT eTeufl60
48

——x6300=3024
100
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72. 800 boys and 600 girls appeared in an examination of which 60% of the boys and 70% of
the girls passed out in the examination. Find total Number of students who did not pass?
a. 420 b. 500 c. 520 d. 480
@ Gxpitemeu 800 LOTEWIGUTHEHD 600 oTawalBEHD  erpHemiTser. SbdHdh GpTaled 60%
wrenteuTaepd 70% wrenialsenhd CxTed QuBBeT eaealsd, CxHTFds QBT Tewiey, LTewie sHe6r
6T6uT600T 56mBUTGD  BHT6MTS.

a. 420 b. 500 c. 520 d. 480
allensaLd

Number of students who are passed = 60% boys + 70% Girls

Number of students who did not pass = 40% boys + 30% girls

= ﬂ><800 + ﬂ><600
100 100

=320 + 180

=500
Casd Guprg wreweu, wrewalset = (100 - 60%) wrewTeuTa6i
aewiemiibens + (100 - 70%) orewmelsei

= ﬂ><800 + 2><600
100 100

=320 + 180

=500

73.  The income of a person is increased by 20% and then decreased by 20% find the change in
his income percentage.
a. 2% decrease b. 3% decrease c. 1% decrease d. 4% decrease
o puflar eugmwreand 20% o@sfssiu G ng 20% GoBossILGEBSI 6laled, SIaIHEL
QUHLOTEISHH60 GBLMBLD LOTBBHMS HTwIH.
a. 2% @epuib b. 3% @mpujb c. 1% @epuybd d. 4% &emmujb

el asLD
@@ pufler eugpomend Rs. x ereis.
Let us consider
Initial income = 100 Rs
After 20% increase
120

in income = 100x —=120 Rs

100
Sﬁ =96
160

difference =100 - 96 =4 Rs
4% decrease

After 20% decrease in new income = 128 x

Short cut: Effective percentage=a+b + %é)

(@LBOWTSHS FoHaisLD)
Herea=20% b=-20%
=20-20+ 2020
100
20x20
100
b | Page APPOLO STUDY CENTRE 044-243334368. 47867535, 9840776187
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74.  In an examination 34% of the students failed in mathematics and 42% failed in English if
20% of the students failed in both the subjects, then find the percentage of students who
passed in both the subjects?

a. 40% b. 41% c. 44% d. 43%

BGxitey @afled 34% rewauTHeT SWiGHHHed 42% ymEBvsHID CopmevaiuBment. 20%
LoTeTeUTHeT @Feni(h UTL MmN CHTeoaluBBeIT 6160 61HHMmeT FHAIHLD LOTewIoUTHET B
umLmisefled CsiTdd) GumBmenT?

a. 40% b. 41% c. 44% d. 43%

allensaLd

Let the total number of students be 100
Maths both English

Students failed at least one subject = 14 + 20 + 22 = 56
students passed in both the subjects = 100 - 56 = 44

75.  Two numbers are less than third number by 30% and 37% respectively. How much
percent is the first number greater than by the second?
a.20% b. 30% c. 11.1% d. 40%
B erewime D eemienent il (wewpGw 30% wmmid 37% Gomey eeled (PHEO  6TewT
BIeWILMD eTewienem il 61HHMme FHAIHD DIFHHLD?
a.20% b. 30% c. 11.1% d. 40%

allendaId
Let the third number be 100
then, First number = (100 -30) =70

second number (100 - 37) =63
Percentage increase of first number greater than second = 70-63 %100
= lxlOO = @zll.l%
63 9

cLpesImTeugl erewr 100 616018,

waev etewt =100 - 30 =70

@yewi_mb etewr = 100 - 37 = 63

. . L . . . _ 10-63
(PFH6L 6TewT BTewIL D elewienenl ol GUBB OIFHH FHaiFHD = x100
= lxlOO _ 10 =11.1%
63 9
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77.

78.
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The value of a machine depreciates at the rate of 10% per annum. If its present value is Rs.
1,62,000 what was the value of the machine 2 years ago?

a. 19,00,000 b. 1,00,000 c. 2,00,000 d. 2,10,000

QM ahHrsHer wHIY euBpLESHew 10% Gsuiomend S@b. DT SBOUTMSHW AL (T
1,62,000 eleufled 2 6U(HLMBIGET (PG| DIGH6ST LS| 6T65T601 7

a. 19,00,000 b. 1,00,000 c. 2,00,000 d. 2,10,000

allensaLd
162000

A AN2
i)
100
162000
2
o)
10

2
1,62,000 _ 167 x1000x10x10

W

value of Machine 2 years age =

2 aupLmse Wiy abSIsPer wHIL) =

=2,00,000

If the population of a town increased from 25000 to 30000 in a year. find the percentage
increase in population?

a. 19% b. 18% c. 20% d. 25%

QH BBTHDH LSHTOBHTNS @ SLemwiged 25000 @edl(hbal 30000 b SIHBMHHl6TeNH 6T6i60,
Ww&EH6T FTend FHFHAIY FHAIHHMBHD HTEWISH.

a. 19% b. 18% c. 20% d.25%

allenéaLd
waseT OFTems oiHafiy = 30000 - 25000 = 5000

5000
&6 () foya afsb = ———x100 =20%
&S FTend FHSMAILF FHaiHlb 25000>< 0

A welfare association has a sports club where 25% of the members play football, 18% play
Cricket, 27% play volley ball and the rest play indoor games. If 60 member play indoor
games then how many members are there in the sports club?

a. 150 b. 200 c. 250 d. 300

R HOFFRBHHE  alewemum G waBHH0, 25% o minleiser  smeoLBmSWD, 18%
o mtfenTee L L LUBdSUD, 27% o mIniemser M LILHmSUID DBBITHET 2 6TenhiE
alenemum’ Bosemenud  alememunGdemert. 60 o minleamser o elenmig  alaenuwim HHener
allenemum B epenT eleafled allenemuim B EMBHH0 THHMmeT 2 BIIIeTH6T 2 6T6erentT?

a. 150 b. 200 c. 250 d. 300

allendesld
percentage of members playing indoor games = (100 - 25 - 27 - 18) %
= (100 - 70) % =30%
Given Total number of members playing indoor games = 60

Total number of members in sports club %xloo =200
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80.
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o sienyig elewemunp o miilamseiar ssaisn (100 - 25 - 27 - 18)%

= (100 - 70)% =30%
o _eienymig alenemuT (haemen alenenum®d o miilanselar aewienibans = 60
allewemum’ (B WaMHH DHBGW CIoTHEH 2 mIlenToerienr 6Tewemidhend

= 200 = @x100
30

A fruit vendor bought some mangoes of which 20% were rotten. He sold 50% of the rest.
find the total number of mangoes bought by him initially if he has 160 mangoes with him.
a. 300 b. 400 c. 450 d. 500

@ uw elwrumf  eummdw  wmbupksefsd 20%  owdulmhser. s psteneumpiso 50 %
ombuwmisemen alBmiail L. sBGurgd 160 wrbupriser Sieufllb @mbdleamer seafled, (LPpHeded
ST uUTRISW GIoTsHg OMDLIPEIS6T6T 61601601 HenEHENUIS  SHT6u1H.

a. 300 b. 400 c.450 d. 500

allensasld
Let initially total number of mangoes be 'x'
20% of mangoes were rotten means now he has = 80% of x

50% of mangoes were sold = 0 80 X

X X
100 100

4—0 X =40%x
100

[Remaining mangoes = 160]
Now he have total number of mangoes =40% of x
40% of x =160
= @xloo =x =400
40
(WHI60 SlUT MBS W GO TP “X' 61661,
20% oipduimhaer aalsd HBGUTHI SeuflLb = 80% of x
80

0
50% mbupmiser elBm el LT erefed AL = —x—xX =40% of x
LOTDLIDEIG6T BmI e LmT 6 SleuflLib 100100

QUIDT&HS DTDLILDHIGETET  eTewTenbnd = %xlOO [Bspeien wmbuprisst = 160]
=400
Ram scored 70% in an examination. If his score was 490 marks find the maximum marks

of the examination.
a. 600 b. 650 c. 700 d. 750

gmb  eieuauT @b Bsialed 70% wHriCuesiaments QuBDBTT. ST GuBBE 490 &N IGLIETE6iT
alafled CxpiTallelr OOTHS LHICLETIHHM6NSH  HT6HIH.
a. 600 b. 650 c. 700 d. 750

Let the maximum marks be 'x' then 70% of x = 490

= @xlOO x =700
70
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81.  If the selling price of a LED TV is equal to g of its cost price then find gain percentage.

a.15% b. 20% c.25% d. 30%
@1 ee0.8.9p (LED) Gamemevdsam duler alBumer alensd SiseT SiLsbs alemevenwlll GuUTaIR

s DL BIG 6Tel60 B60TUF FHATHID SHT60IH.

a.15% b. 20% c.25% d. 30%

Let the cost price be 'x' then selling price = gx Profit=S.P - C.P

6
rofit = —x -x
P 5
1
= - X
5
profit percentage = x/5 x100
X
=190 _ 509
5

LED Garensvdam duller oILss aleneo “X* 6l6is.

alBp ellewev = gx
6
v o= Zy_y—X
®60TLILD 5X X—%

%
BT FHATHLD /2 100= 20%
X

82. By selling a bicycle for Rs. 3000 a shopkeeper loses 10% for how much should he sell it to
have a profit of 5%?
a. 3000 b. 3200 c. 3500 d. 4000
o soLssTT WdHaemngenw Rs. 3000 &@ olpusted oeumsed 10% HULD  gBUBGSBES.
SIUHEBG 5% Beoruid dHess Cauamhoeailed WHalamigenul slaier alamendd alBs GalemBb?
a. 3000 b. 3200 c. 3500 d. 4000

eflendaid
selling price (alBp afemsv) = Rs. 3000
Loss (pLLb) =10%

cost price (oIL&S allenev) = (1001?—?_)% x selling price (afiBuener alenev)
- 199, 3000 c.p= 10000
90 3

Gain (§evruid) =5% GeuewiBGIoefe0
alBp alemev =105% oI_dsalenev
selling price = 105% of cost price

% 10000
w6 F
10| Page APPOLO STUDY CENTRE 044-24339436 478A7000, 3R407761RT
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83.

84.

85.
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Ram bought a washing machine for Rs. 14150 and paid Rs. 1350 for its transportation.
Then he sold it for Rs. 18600. Find his gain percentage?

a. 10% b.12% c.15% d. 20%

gmD  eTeUeNT @H Hlewl HmaudsGld BubHrsHmad Rs. 14150 &@ eurmidenT OBHBID  OigHes
BursGaursal OFeveyssTas Rs. 1350 o Goausdemt LUBg oigamer Rs. 18600 &@ elmmrT
aaflev, oeufledr Qeomud FHaiHmd HTHIS.

a. 10% b.12% c.15% d. 20%

allendbosLd

Total cost price (siLés alemsv) = 14150 + 1350 = 15500
Selling price (alBuener afenev) = 18600

18600-15500

————x100

15500

_ 3199 100
15500

=20%

Gain% (@eomub%) =

The cost price of 16 boxes of strawberries is equal to the selling price of 20 boxes of
strawberries. Find gain or loss percentage?

a. 20% Loss b. 25% Loss c. 25% gain d. 22% gain

16 el gmEufl Quiysefer oI s aleweowimeig 20 el groufl QuLyseaier alBumer allenevudEF
Fb eadlev, BeomTUd (8]) BLLF FHISHLD HTewid?

a.20% L Lib b.25% mLLD c. 25% eumub d. 22% eomLib

allens LD

Let C.P of one strawberry box be 'x'
Then C.P. of 20 strow berry = 20x
S.P. of 20 strow berry box = C.P. of 16 strow berry box = 16x
loss = C.P. - S.P = 20x - 16x = 4x
Loss = ﬁ><lOO =20%
20x
@61Qaum(h el greuf GQuiiguie oI &s alemevenwiuyd 'X' 6T6TsH.
20 ool gmeuf Quiysefet oI &s alemev = 20X
Guoauid 20 e gmEuf QUi yseler alBuemer allemev =16 el grOUR GUL 19sHe6sT
SILGH alemev = 16x
BLLD = 9IL&5 alemev — alBumer allenev
= 20x - 16x = 4x

Brih %= X100 = 20%
20x

A dealer allows a discount of 20% and still gains 10% what is the cost price of the book
which is marked at Rs. 4407

a. 396 b. 320 c. 352 d. 376

am UussHHHE  alemeouied 20% seT@puy CFuissTed @ elwrurfsg 10%  @eomud
S SHBHI. DIIUSHBHHE GSBHDH allewev h 440 eafled SIHHT LSS alenev wirgl?

a. 396 b. 320 c. 352 d. 376

APPOLO STUDY CENTRE (44-24333436, 42867000, 3640226187




86.

87.

12| Page

allenéaLD
Marked price (P55 alemsv) = Rs. 440
Discount (seitemLig) =20%

Then selling price (alBusner afensv) = (100 - 20)% of Marked price (&plgsalmev)
S.P. =80% of 440
84
= 44
100 4
S.P. =352
Gain % =10%

Cost price (oiL&s alewsv) = Mx%&?—

g

C.P.=320

A dealer allows a discount of 5% in Marked price of Rs. 5500 then find selling price?

a. 5440 b. 5335 c. 5225 d. 5555

@ alwrumf &¥isHs alemev ap 5500 uisd 5% semenLy SiefdHsHTed alBLemen alenevenil HTeams?
a. 5440 b. 5335 c. 5225 d. 5555

alleng b

Selling price alBuenenr aflensv = (100 - D)% Marked price (8855 allenev)
- (100 - 5)% of 5500

= £ ><5596

100

9225

A dealer sold a TV set of Rs. 14400 with a successive discount of 10%, 20% then find
marked price of the TV set?

a. 22000 b. 21000 c. 20000 d. 20075

QT senepuigser 10%, 20% eaaBauTm @k OFHTemevdsT  d GQuiily Rs. 14400 - &o
alBaluGEBSE slelled GWIHS aleNevenll SHTENIH.

a. 22000 b. 21000 c. 20000 d. 20075

allend LD

Selling price (alBueer efemev) = Marked price (855 alemev) (1030_0D1jx (1020—_0'32)

100-10 100-20
100 100
14400x100x100

g x84
200
14460-x100

y 4
M.P. = 20000

14400 = M.P. x

=M.P

= Marked price
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A dealer gives a discount of 10% still he gains a profit of 20% with the marked price Rs.
600 then find cost price of the shop?

a. 410 b. 420 c. 430 d. 450

o alwrumf 10% semepLgenw eupmEBIT. SmbaTed 20% eoTud FLBEAMIT. DG G5
aflemew ¢ 600 6Talled OILdbD alleNe0emUl HTENIH?

a. 410 b. 420 c. 430 d. 450

allensaLd

G@Bss alemev (M.P) =Rs. 600, Discount = 10%
Selling price = (100 - 10)% x M.P
alIBLemeT a1en6v)

90
SP. = X6
100 o0
S.P = 540; Gain = 20%

Cost Price (9_éa allened) = %XS‘]-O

C.P =450

The price of a product increased by 25% later it is decreased by 44% find the percentage
change in the price of the product?

a. 15% decrease b.10% decrease

c. 20% decrease d. 30% decrease

@m Qurmefler allenev 25% o wissiu b Leem 44% @oBsslILGABSH. afled DIIGLITHE 6
alemeoulled gBULL FSHell&ld LDTBBLD 61631607

a. 15% @&emmugib b.10% @e»pujb
c.20% @eBub d. 30% @&emmujb
allendaLd

Effective percentage change = (a +h+ 2 b j %

100
Percentage change = 25 - 44 + 25%(-44)
100
11
160 ,

A dealer bought a television set for Rs. 12000 and sold it for Rs. 15,000. Find the profit /
loss made by him for 4 television set.

a. 12000 profit b. 15000 loss c. 76000 loss d. 17000 profit

Q@ Qwrdhgd elwrumh @ OsTemevdst d Guigew . 12000 &g eummd e 15000 &G
ABABTT  eiafled 4 OFTewevdaT & U smer alBuFTd HewL G HeoTud /  BHLLHDS
BITCUIB.

a. 12000 eorud b. 15000 B Lib c. 76000 mL LD d. 17000 evomud
allendaId

For 1 television set = 15000 - 12000
= 3000 profit (§evmLib)
For 4 television set (preiig O@stenevdsm 8 Quligsensg =4 % 3000 = 12000
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91.  Find the L.C.M of (5x - 10), (5x2 - 20) B

a. 5(x-2) (x-4) b.5 (x+2) (x - 2) c. 15(x+2) (x-2) d. 10(x-2)?
(5x - 10), (5x2-20) ®amE WB.H.10 sTews?
a. 5(x-2) (x-4) b.5 (x+2) (x - 2) c. 15(x+2) (x-2) d. 10(x-2)?
allendasLd

5x - 10 = 5(x-2)

5x2-20 =5(x2 - 4) = (5(x2 - 2?) (a2 -b?) = (atb) (a-b)

= 5(x+2) (x-2)

- LCM [(5x - 10), (5x2 - 20)] = 5 (x+2) (x-2)

92. The LCM of 2 numbers is 2079 and their HCF is 27 if the 15t number is 189, find the 2nd

number.

a. 298 b. 295 c. 297 d. 287

Om elemidaer WB.8.0 2079, WB.0um.eu. 27 SieIOLUEIISEHET (PHe0 6lew 189 elelled EFewiLmbd
6160017

a. 298 b. 295 c. 297 d. 287

alleng b

L.C.M x H.C.F = product of two numbers
2079 x 27 =189 x 2nd number

2nd number = M = 297

189

93.  The difference of two numbers is % of their sum. Their sum is 45. Find the LCM.
a. 225 b. 100 c. 150 d. 200
Bm ecamisela alSHUTFD DiFeT gl (s CETendemwits Gumed % DL BIGLD, L hHOFHTndH 45

eTeNey L5.8.10 Hmewias?
a. 225 b. 100 c. 150 d. 200

allend LD

Let the two numbers be x and y

1
—_ = _ +

x-y =g (x+y)

1 5
x—y=§x;1€ [ x+y=45]
X—y =5
X+ y =45 x =25,y =20
2x =50

LCM of (25, 20) = 100
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94.

95.

96.
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The LCM of two numbers is 495 and their HCF is 5. If sum of the numbers is 100, find the
difference of the numbers.
a. 10 b. 20 c.15 d. 25

B eaewiseie 5.H.0 495 wBmid B.OuT.en 5. eualm eauiselar gl BHOHTmH 100, 6refled
B eletibEhdHHmL B 2 aiten allSHHWITFD 6TesTeo?
a. 10 b. 20 c. 15 d. 25

allendesld
Let the two numbers be 'x' and 'y'
L.C.M x H.C.F = product of two numbers
495 x5=xxy
Xy =495 x 5
Given x +y =100
y =100 - x
xy =495x5
x (100 - x) =495 x5
100x - x2 =495 x 5
x2 -100 x + (495 x 5) =0
(x-55) (x-45)=0
x =55 y =45
xy=495x5
x =55
55y =495 x 5
y=495x5 /55 =45
y =45
therex=55 y =45
difference of the numbers = x -y
=55-45 =10

Three rods of length 15m, 42m, and 39m are to be cut into pieces of equal lengths. Find the
greatest possible length of each piece?

a.bm b. 6 m c.3m d.4m

15 5, 4215, 3915 menm Sleneyeten cpeiy HbLlsenen Fo FHlewihdenTas LIfle@ Gurgl, giewrge
DIHBULF [H6NLD  6T6d16017

a.b> 18 b.6 1 c.3 18 d.4 5

allengasld
Greatest possible length is
3115,42,39

H.C.F. of (15, 42, 39)
5,14, 13
15=5x%3
42=3x2x7
39=3x13
H.C.F (15, 42, 39) = 3

Two numbers are in the ratio 3 : 4 and the product of their L.C.M and H.C.F is 10800 find
the sum of the numbers.

a. 210 b. 220 c.219 d. 250
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CHENNAI
Bm 61ewiHeT 3 : 4 6l alFHHIHe0 2 6iengl. Deumpilent L5.8.0. B 1B.0UT.6u. L WeumS et
OLBSGHS OFHTemas 10,800 eaied Sieuall(h elemideaie &nl HoGHTEND 616316017
a. 210 b. 220 c.219 d. 250

allendbosLd

let the numbers be 3x, 4x
L.C.M x H.C.F = product of two numbers
3x x 4x = 10800

36 25
_ 10800 _ 108x100

X2
3x4 ZXA/
X=6x5
x =230
The numbers are 3 x 30 = 90
4 x30=120

sum of the numbers =120 + 90
=210

97. Ratio of two numbers is 6 : 7 and the LCM is 420, then the smaller number is?

a. 10 b. 60 c. 70 d. 30
B elewide 6 : 7 eIdB alBHHHe0 o siengl. OiGent 5.8.0 420 elefled WHF Fpsluls eTewr elevtent?
a. 10 b. 60 c.70 d. 30
ollenébHID
Let the numbers be 6x, 7x
L.CM (6x, 7x) = 420 HCF = x
6xX7xx2=420% x = X=420
6x7

x =10
Then the smaller number is 6 x 10 = 60

98. Three numbers are in the ratio of 3 : 4 : 5 and their LCM is 2400. Their HCF is

a. 40 b. 80 c. 120 d. 200

PG 6TewIdBeT 3 : 4 : 5 e eldHBHHHev o efengl. DeuBpledr 15.8.102400 eTedile0 L5.GILIT.61
BITEI1b.

a. 40 b. 80 c. 120 d. 200

allend b

Let the numbers be 3x, 4x, 5x
L.C.M (3x, 4x, 5x) = 2400
3 x4 x5xx=2400
x = 2400
3x4x%x5
x =40
The three numbers are 3 x 40 = 120
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4 x40 =160
5 x40 =200
H.C.F (120, 160, 200) = 40
99.  The Greatest number of four digits which is divisible by 15, 25, 40 and 75 is
a. 9000 b. 9400 . 9600 d. 9800
15, 25,40, 75 160 au@LUL Sanigul [HT6G Bevdh@ elamidbermev LOs( Quilul erewr 61g)?
a. 9000 b. 9400 c. 9600 d. 9800
allendaLd
The Greatest four-digit number = 9999
L.C.M. (15, 25, 40, 75) = 600
Dividing 9999 by 600
Remainder = 399
The Greatest 4 digit number divisible by 15, 25, 40 and 75 = 9999 - 399 = 9600
100.  Find the least number divided by 12, 15, 20, 54 and leaves a remainder each of 8.
a. 530 b. 544 c. 548 d. 560
abd @b Flw etewr 12,15,20 wBmibd 54-60 au@lULLT60 @ealbeutainfied 1585 8 s Siemoub?
a. 530 b. 544 c. 548 d. 560
allengad
Required number = L.C.M (12, 15, 20, 54) + 8
=540+ 8
= 548
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